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Je m’entraine à 
trouver le complément à 1 et à soustraire. (
avec
 des dixièmes)
)[image: ]

Complète par l’écriture à virgule.
0,5+      = 1	0,8+      = 1
0,9+      = 1	0,4+      = 1
0,1+      = 1	0,7+      = 1
0,2+      = 1	 +      = 1
+      = 1	 +      = 1
+      = 1	 +      = 1
+      = 1	 +      = 1
1-0,5 =	1 – 0,7 =
1-0,9 =	1 – 0,8 =
1- =	1 – =
1- =	1 – =
1-0,9 =	1 – 0,5 =
http://lewebpedagogique.com/strategiescalcul/

 (
Je m’entraine à 
trouver le complément à 1 et à soustraire. (
avec
 des dixièmes)
)[image: ]

Complète par l’écriture à virgule.
[bookmark: _GoBack]0,5+      = 1	0,8+      = 1
0,9+      = 1	0,4+      = 1
0,1+      = 1	0,7+      = 1
0,2+      = 1	 +      = 1
+      = 1	 +      = 1
+      = 1	 +      = 1
+      = 1	 +      = 1
1-0,5 =	1 – 0,7 =
1-0,9 =	1 – 0,8 =
1- =	1 – =
1- =	1 – =
1-0,9 =	1 – 0,5 =
http://lewebpedagogique.com/strategiescalcul/

image1.png




